
1 / 14ROOF 10 H2--08

12

6

9 31.5 h

100%

COTTON

Ø8



2 / 14ROOF 10 H2--08

1

2 kg

15

16L

16R

17 16

x2

1

2

3

4

5

1

3

1

1

1

3/33511381

3511350

350328

350328

333800

106

10

15

1

1

2

333

305

151

800

809

496

7

11

1

1

312

305

296

511

1

1

4

290

350

100

392

328

302

8

12

16L+16R

1

1

2

2

2

1

323

100

333

100

300

1350

794

502

502

469

480

1182

9

14

13

16

17

18

3/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

1/3

9

7 kg

7 kg

7 kg

7 kg

2

4

3 5106 7 8 1110 12 1314

18



NR 1 NR 2

x14

T1

5x39mm

+

x22

M1

f15x12mm

3,5x13 x4
P13

x2

J11

x4

W1

E3

6,3x13 x4

4x13

S8

x4

x14f 8x28

B1

x14f20mm

C14

0 10 20 30 40 50 60mm

NR 5

3 / 14

NR 3 NR 4 NR 6

ROOF 10 H2--08

x244x25

S26

x4L-245/27

R20

M4x9 x4

A01

6,0x11 x8

E24

+

M2

T2

x4

x4

x16

J23

4x30 x4

P7

D7

x2H2

x2

f35

x2

N60

3,5x13 x10

S3

NR 7

x2

T13

8x50 mm

U160

x3

M4x22 x6

A14

x2

T14

6x50 mm

5040302010 60 70
M6x25

G25

x1

G7

S4

M6x25 x16

G25

F12x10mm

x4f 8x50

B20

x4

T18

L=64

5x35mm

L1

x1

GLUE

LEIM

Y0

Kr0

3,5x25 x2

S10



4 / 14

1 x8f 8x28

B1

x13

T1

5x39mm

+

x8

M1

f15x12mm
T1

+

+

M1M2

T1T2

E3

6,3x13 x4

D7

x2

+

B1

M1

ROOF 10 H2--08

T1

T1

T1

T1

3

4

+

+

+

+

+

+

+

+

B1

B1

+

+

+

+

M1

M1

M1

M1

5

106

B1

B1

T1

T1

front

E3
D7

80

E24

fro
nt

x2L-245/27

R20

6,0x11 x4

E24

R20

S3

N60

3

x1

N60

3,5x13 x3

S3



5 / 14

2 T1

+

+

M1M2

T1T2

+

B1

M1

ROOF 10 H2--08

+

+

+

+

B1

+

+

M1

M1

7

B1

W1

x6f 8x28

B1

x1

T1

5x39mm

+

x6

M1

f15x12mm

x4

W1

+

+

14

B1

+

+

M1

M1

B1

180°

12

W1

S3

N60

12

T1

12

08

E24

front
R20

x2L-245/27

R20

6,0x11 x4

E24

x1

N60

3,5x13 x3

S3



6 / 14

4

ROOF 10 H2--08

+

+

+

+

1
2

3

4

13o
14

11

4

13u

5
12

3

B1

+

+

+

+

+

+

M1

13u

!
B20

T18

T18

0 - 90
O O

+
M1

B20

T18

B1

+

+

+

+

+

+

M1

13o

!

B20

T18

T18

x4f 8x28

B1

+

x8

M1

f15x12mm

x4f 8x50

B20

!

x4

T18

L=64

13x2



7 / 14

5

ROOF 10 H2--08

6

5

10 12

T18

13o

5

12

B20

!

13u

13o

13u

2

90 -180
O O

1

0 -180
O O

+

+

+

+

1

2

3 4

3

5

7

10

1 2

106
106



7

ROOF 10 H2--08

8

A

B

11
90

o

x12

J23

10

A=B

11

10 9

2

90°

1
J23

4x13

S8

x4

x2

N60

N60

9

S3

x2

f35
Y0

Kr0

Y0

S8

S8

3,5x13 x4

S3

8 / 14



9 / 14

9

ROOF 10 H2--08

+

B1

M2

x4

+M2

f12x10mm 4x30 x4

P5

x4

T2

5x35mm

P5

P5

+

T2

T2

+

+

M1M2

T1T2

15

17

16

x2

T2

10
+

+

+
x2

A=B

16

17

+

90
o

x2

A

B

x2 16L

16L

16R

16R

15

x4

J23

J23

+

+

M2

2x

2x
+

+

M2

16L

16R

P5

17
17

L1

x1

GLUE

LEIM

GLUE

LEIM

GLUE

LEIM

GLUE

LEIM

15 15



10 / 14

11

ROOF 10 H2--08

18

5040302010 60 70
M6x25

G25

M6x25 x16

G25

G25

G25

G25

G25

x1

G7

S4

G7

G7

12

G7

x184x25

S26

S26S26S26
S26

18

222



J11

P13

1

3,5x13

P13

x64x25

S26

x4

1

18

S26
S26 S26

S26

1

2

11 / 14

13

ROOF 10 H2--08

x2

J11

18

x2

T13

8x50 mm x2

T14

6x50 mm

J11

2 3

8f

4J11 65

J11T13

T14

14

1

!

1

18



4
3

106

+

+

+

+

+

+

+

+

+

S10

12 / 14

15a

ROOF 10 H2--08

15b 3,5x25 x2

S10

+

+

+

+

S10 S10

106



13 / 14

16

ROOF 10 H2--08

17

+

+

+

+ +

+

N60

Y0

D7

N60

S3

+

+

+

+

+

x2

N60

9

8

9

+

+
+

+

+

+

9

R20

A01

U160

x2

M4x22 x4

A14

M4x9 x4

A01

A14

A14

U160

15

15

A14

A14

U160

U160

x1

M4x22 x2

A14



%

x14f20mm

C14

C14

+

C14M1

+

+

+

+

+

+

9

14 / 14

18

ROOF 10 H2--08

7 kg

7 kg

7 kg

7 kg

2 kg

2 kg

C14



12


